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= 1,224,430
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< 1,224,430
Al 12,603,872
2+=8d MBI 5,620,087 4,987,800 632,287
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< 437,641
Al 4,962,446
=2 ¥ HA HEXA 3,319,461 3,170,901 148,560
201 Let24d] 12,961 13,451 A 490
02 =224l 12,961 13,451 A 490
OAlUHA 3= 2H01TH0l Saldl XI& (=404
&) 12,961,000& 12,961
202 oddl 1,500 2,450 A 950
01 SLHOIYI 1,500 2,450 A 950
OB (at2)XNsH24AE =8 04l
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OZADENLRSILD 48 Ot
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OdZEzd Z2E9 500,000& 500
203 YR =&l 5,000 5,000 0
03 AIMF=XH R =AH| 5,000 5,000 0
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308 XXM SOl A 772,522 680,317 92,205
07 IXNSHHARE = 772,522 680,317 92,205
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OBSHYA(MER-C2M) 2E2
105,280, 000& 105,280
ZJ Zelileg HAZY X2 202,920 0 202,920
< 101,460
Al 101,460
307 glz2tol & 202,920 0 202,920
< 101,460
Al 101,460
09 2HAHAEXS 202,920 0 202,920
OZJ ZelolgHAa W3 XI& 202,920,000 202,920
= 101,460
Al 101,460
SEE HA N2 312,000 256,000 56,000
< 156,000
Al 156,000
307 21201 A 312,000 256,000 56,000
< 156,000
Al 156,000
09 2+=HAHBEXS 312,000 256,000 56,000
QUEALAXNY XESE HA X2 (40H)
312,000, 000& 312,000
< 156,000
Al 156,000
HOIEAl 23 AMA HR2MHA 248,640 189,000 59,640
< 117,600
Al 131,040
301 LPEAS 248,640 189,000 59,640
< 117,600
Al 131,040
12 JIEtE4 3 248,640 189,000 59,640
OYUEAl 2= AR MR A
70,0003 x296 % 1201 & 248,640
< 117,600
Al 131,040
BHAIStESLD] Salg XA 9,357 9,357 0
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Jl2dgl(nssd ) 28,800 46,790 A 17,990
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